automatic extenders, minimum-length 7
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automatic extenders, minimum-length 3.5
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automatic extenders, minimum-length 1
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automatic extenders, mixed manual and automatic melismata, extender on last note forced to length 5
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automatic extenders, mixed manual and automatic melismata, first extender shortened, extender on last note forced
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Issue 1006 revisited, last extender forced and tweaked to the left, minimum-length 2
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of Prin - ces all the flowr. Who took a- __ the flow'’r.
Issue 1006 revisited, last extender forced and tweaked to the left, minimum-length 1
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of Prin - ces all the_flowr. Who took a- _ the_flow’r.
Here our melisma detection fails. We need to override.
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Not re - peat - ed. The first time words. The end sec - tion.
Sec - ond time words.
The third time words.
There should be no extender from volta 1 to volta 2 but a short extender starting at volta 2
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Here's a__ verse _ sec - ond one.
Best solution to that problem ...
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Here's a0 verse.
Here's one _ more to sing.
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